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Fitting with hypermet

Step function kept going to 0 

→ Removed it 

→ non-zero for very few 

peaks. Step < Peak/1000
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• Adding NLL variables for total NLL

• 𝜎 = 𝑎 + 𝑏 𝐸 + 𝑐𝐸

• 𝑅𝑇 =
𝑓𝑇

𝑓𝐺
, 𝑅𝛽 =

𝛽

𝜎
as linear functions

• Make TH1F for individual fits:

• Data

• Model components

• Residuals

Coupled fits

𝑐1 =
𝑎1

2

𝑁𝑏𝑖𝑛𝑠

𝑁𝐵𝑔
(𝑋𝑚𝑎𝑥 − 𝑋𝑚𝑖𝑛)

Chebychev slope from regular linear:
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Fitting with hypermet
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• Residual = (data – fit)/error

• Slight tail at negative residuals due 

to Poisson statistics?

• Very close to N(0, 1):

• 𝜇 = 4.6 28 × 10−2

• 𝜎 = 1.006(28)

Distribution of residuals for a converging fit
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Initial parameters for 𝜎 = 𝑎 + 𝑏 𝐸 + 𝑐𝐸
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Which lines to use?
Use BEGe to identify 

potential issues

214Pb 352 keV

Only (?) significant step
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Which lines to use?

?
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Risk of overlap?

Potentially risky peak
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